€y

20 124,444 102 273 29 404 124,848 2,015 126,863
21 124,031 508 518 238 1,264 125,295 2,066 127,361
22 123,717 914 936 442 2,292 126,009 2,124 128,133
23 123,423 1,331 1,249 655 3,235 126,658 2,193 128,851
24 122,696 1,750 3,429 871 6,050 128,746 2,267 131,013
25 122,297 2,169 5,157 1,083 8,409 130,706 2,347 133,053
26 121,670 2,589 6,682 1,301 10,572 132,242 2,418 134,660
27 121,127 3,014 7,318 1514 11,846 132,973 2,484 135,457
28 120,402 3,435 7,989 1,733 13,157 133,559 2,540 136,099
29 119,678 3,855 8,482 1,955 14,292 133,970 2,588 136,558
30 118,893 4,283 8,860 2,171 15,314 134,207 2,648 136,855
31 118,074 4,703 9,375 2,388 16,466 134,540 2,691 137,231
32 117,221 5,126 9,897 2,600 17,623 134,844 2,751 137,595
33 116,283 5,546 10,416 2,673 18,635 134,918 2,799 137,717
34 115,287 5,986 10,896 2,742 19,624 134,911 2,852 137,763
35 114,286 6,410 10,940 2,797 20,147 134,433 2,884 137,317
36 113,238 6,836 10,982 2,864 20,682 133,920 2,922 136,842
37 112,163 7,266 11,008 2,928 21,202 133,365 2,906 136,271
38 111,075 7,697 11,042 2,987 21,726 132,801 2,893 135,694
39 109,964 8,125 11,063 3,050 22,238 132,202 2,883 135,085
40 108,807 8,549 11,083 3115 22,747 131,554 2,877 134,431
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0~-14%% 1564 8 65 B &5
FRI0F( LR 17,698 14.0%| 85323 67.9%  23.842 1g.08] 126863 | 1o00%
T2l E 17,882 14.0%| 84,718 66.5% 24,760 1048 127361 100.0%
FH22E 18,060 14.1%| 54538 66.0%| 25535 1o0%] 1ze13s | 1ooox
FR2E 18,310 14.2%| 54698 65.7%|  25.843 zo1%| 128851 100.0%
FH24E 15,593 14.4%| 55,394 65.2%| 26,726 zo4sl 1z1015 | 1000w
FH2EE 10,428 14.6%| 85520 64.3%  28.096 #11%] 133085 | 1000w
FH26E 19,740 14.7%|  £5.580 63.64 29,331 21.8%] 134860 | 1000%
FR2TE 19,501 14.6%| 55354 63.0% 50,302 ze4s|l 135457 1000w
FR28E 19,530 14.6%|  £5.300 62.7%| 50,969 zeakl 1se09s | 1000w
FH20E 19,784 14.5%|  £5.350 6254  51.424 za.0x] 136558 | 1o00%
FRHI0E 10,664 14.4%| 05542 6254  91.6480 zaiwl 136855 | 1000w
Tl E 18,608 14.3%| 85732 6254  91.891 paowl 137291 100.0%
FHI2E 13,474 14.2%| 86,040 6254 92,081 zaaxl 137595 | 1000w
FHIE 19,301 14.0%| 86,180 6264 52,227 zaasl 137717 1000w
FHa4E 19,080 13.6%| 86,470 62.8%  52.213 zaaxl 137765 | 1000w
FHI6E 18,690 13.6%| 86,427 62.9% 52,200 zaasl 137817 1000w
FHI6E 15,301 13.4%| 86,363 63.1%| 32178 zasyl 1se842 | 1000%
FRHITE 17,912 13.1%| 86,264 63.3%  52.095 zaaxl 136271 100.0%
FHI8E 17,5240 12.9%| 86,081 63.4%  52.084 zaaul 135694 | 1000%
FHIE 17,162 12.7%|  §5.350 63.64  52.073 za7sl 135085 | 1000w
FR40E 16,547 12.5%|  §5.653 63.7%|  51.931 za.aul 134431 100.0%
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SEETEAD ROV 2 A0 BRRS T4 A0 =Ll
FRh20 S SRR 2016 1.6% 404 0.3%] 124,444 98.1%| 126,863 100.0%
FRu21 2.066 1.6% 1,264 1.0%] 124,031 97.4%] 127381 100.0%
FRz2 2124 1.7% 2,292 1.8% 1237117 g96.6%] 128133 100.0%
FERZIE 2193 1.7% 3,235 2.5% 123,423 g95.8%] 12881 100.0%
FRu2d 2.267 1.7% 6,080 4.6% 122,696 93.7%] 13013 100.0%
FRezGE 2.347 1.8% 8.409 g.3%| 122297 891.9%| 133.083 100.0%
FRe2GE 2418 1.8% 10,672 70K 121,670 q0.4%|] 134,660 100.0%
FRu2TE 2,484 1.8% 11,846 B.7% 12127 89.4%| 13b.457 100.0%
FReZEE 2.540 1.9% 131587 9.7%| 120,402 g8.5%] 136.099 100.0%
TR0 2,688 1.9% 14,292 10.6%] 119,678 87.6%] 136,558 100.0%
FRyI0E 2,648 1.9% 16,314 11.2%] 118,893 86.9%] 136,856 100.0%
Faeil 2.691 2.0% 16,466 12.0%] 118074 g6.0%] 13723 100.0%
F R 2,751 2.0% 17,623 12.8%] 117,22 g6.2%] 137595 100.0%
FRyIIE 2,799 2.0% 18,635 13.8%] 116,283 24.4%] 137017 100.0%
FRej4 2.852 2.1% 19.624 14.2%] 115287 g83.7%| 137763 100.0%
FRRIGE 2,884 21K 20147 14.7%] 114,286 g3.2%] 137917 100.0%
FRyIGE 2,822 21% 20,682 18.1%] 113,238 g2.8%| 136,842 100.0%
FReITE 2,906 21K 21,202 15.6%] 112163 g2.3%] 136271 100.0%
FReIGE 2,893 21K 21,726 16.0%] 111,075 81.9%] 135694 100.0%
FRy30E 2.883 21% 22,238 16.5%] 109,964 81.4%] 135085 100.0%
FRid0 2,877 214 22,747 16.9%] 108,807 g0.9%] 134,43 100.0%
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7 5F Pk i 1L5F =i
Fri20F(FE¥F) | 57799) 45.64| 35895 283%| s2602] 257%]  567| 0.4%| 126863 100.0%
izl F 57.465| 45.1%| 35976 28.2%) 32984] 250%  o956| 0.8%| 127361 100.0%
22 57.137) 44.6%| 368110 282%| 33533 26.2%) 1.353] 1.1%| 128133) 100.0%
T p523 56,809| 44.1%| 38263 28.1%| 34025 26.4% 1.764] 1.4%| 128851 100.0%
FRh24 56.318| 43.0%| 38287 27.7%| 26.234] 27.7%] 2174] 1.7%] 131.013] 100.0%
T F25 55.860| 42.0%| 36435 27.4%| 38164| 287%] 2585 1.9%| 133.053) 100.0%
T ph26 & 55.463| 41.2%| 38310] 27.0%) 39.893] 29.6% 2894] 2.24| 134.660| 100.0%
FR527 55.062| 40.6%| 38210] 267%) 40772 30.1%| 3413 25%| 135457 100.0%
F 28 E 54617| 40.1%| 38043] 265%) 41.614] 306%] 3825 28%| 136099 100.0%
T 529 54160| 239.7%| 35876 o263%| 42285 31.0%] 4237] 3.1%| 136558 100.0%
F R0 F 53.603| 20.24| 35600 261%| 42812] 231.3% 4660 2.4%] 126855 100.0%
F i3l 53.224| 38.8%| 35488 ©259%| 43.448] 31.7%] 5070 3.7%| 137.231] 100.0%
TRz & 52.744| 238.3%| 35278 2564 44088 32.0% 5487] 4.0%| 137.595) 100.0%
F R 52,251| 27.0%| 35065 ©255%| 44502 2323% 6899] 4.3%] 137,717 100.0%
Fpiad 51.738| 37.6%| 34832 253%| 44858 326%) 6335 464] 137.763] 100.0%
T p5a5 & 51,202| 37.3%| 34594| 25.2%) 44773 s206% 6748 4.0%] 137317 100.0%
F Fh6 50.668| 27.04| 34336 ©251%| 44.660] 2326% 7169] 5.2%] 136842) 100.0%
F a7 50.111| 36.8%| 34052 250%) 44515 327%] 7503] 6.e6%] 136271 100.0%
T 50 & 19556| 236.5%| 33760 24.9%) 44381] 2327% 8017| 5.9%| 135694] 100.0%
F R0 18.994| 236.3%| 33455 24.8% 44198 327% 8440] 6.2%| 135085 100.0%
F R0 18.416] 36.0%| 33133] 246%] 44023] 327%] s850] 6.es| 134431 100.08
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	(2) 人口構成比率（３階層別）の推移

